-l

PN RN

I1.

36.
37.
38.
39.
40.

Contest ID 1022

2014 NJCL Greek Language Test

Vocabulary: Choose the English word which BEST translates the given Greek word or phrase.

J0KE®
moMteln
xpOvVogG
ayov
TOGY®
vadg
TPOTEPOG
Otdmut
TPEP®
duvatog
d&doKa
dvev
oAV
TEKVOV
(/0 1€0)
Baotiedg
viog
LT0)
o
0p0Oo¢
nooev
HapTLG
KEAED®
Papig
peta&d
0006¢
nyéopon
kaBiotnu
TET(OG
ANV
@vo1g
péryopon
[T
Thryo
capNg

. speak

. luxury
. witness
son

. follow
temple
larger
give
turn
just
hesitate
inside
back
temple
lack
snake
ship
sacrifice
thusly
alone
when
witness
trust
good
in

road

. care for
happen
art
under

. island

. work

. Come on!
. quickly
. clear

o e o
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. think

. sky

. earth

. law

. consider
. ship

. better

. strike

. believe
. low

. fear

. over

. under

. child

. break

. king

. ransom
. wish

. truly

. straight
. how

. day

. wish

. heavy

. through
. sun

. lead

. give

. wall

. with

. stranger
. plow

. Be serious!
. nearly

. regular

C. offer

C. cart

C. time

C. justice

. suffer

. house

. earlier

. happen

. stand

. loud

. think

. without

. toward

. soldier

. exist

. priest

. son

. establish
. at the same time
. cowardly
. where

. place

. order

. equal

. around

. head

. ransom

. establish
. mountain
. except

. hature

. sail

. Go away!
. sweetly

. holy
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Synonyms: Choose the best Greek SYNONYM for the give word.

TOAEOG
gmopon
cupupaive
amo
KOPLOG

A. dikonog
A. Boopdlo
A. toyyavo
A. petd

A. vikn

B.
B.
B.
B.
B.

€x0pAc
Kpivo
QoPém
oLV
péptog

C. 600d¢

C. duoko

C. néuno
C. vmo

C. deomodNG
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. accept

. citizenship
. life

. contest

. speak

. land

. farther

. call

. trust

. powerful

L lift

. behind

. down

. port

. save

. law

.dog

. trust

. often

. large

. whence

. custom

L lift

. dear

. between

. honor

. be about to
. be able

. ambassador
. concerning
. COW

. fight

. Not at all!
. utterly

. sufficient

. YOAKODG
. 0IKE®
xP

. TOpaL

. MBog
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52.

53.

54.

55.

56.

57.

58.

59.
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61.

62.

63.

64.

65.

Antonyms: Choose the best Greek ANTONYM for the give word.

Toy0G A.véog B. dewvog C. 1100¢ D. Bpaodig
arn0eio A. 1pOTOC B. yeddog C. otépavoc D. unyavn
QeVAATTO (PUAGCO®) A, KOAE® B. Boviedm C. péyopon D. moiéw
ocotpia A. Bopog B. xivovvog C. téhog D. yopa
KOoTd A. €ig B. mepl C. ava D. vmép

Grammar: Choose the BEST answer to the question.

What tense is the verb form “népyovov”?

A. present B. imperferct C. aorist D. future
What dative use is found in the sentence: ToVg TOAEHOVS T} AOYOLIS Tj Epyolg EAdOUEY.

A. reference B. possession C. means D. accompaniment
Which is the correct present active participle of “didop”?

A. d1000¢ B. 60v¢ C. d106pevog D. d6pevog
What optative use is found in this sentence: AeAOkate TOVC AGEAMOVG MG TEUYT ODPO.

A. purpose B. temporal C. fear D. indirect question
What use of the infinitive is found in this sentence: duvaueda TadTo T CAL.

A. natural result B. purpose C. epexegetical D. complementary
Which of the following is the neuter accusative singular of the adjective 4An0nc?

A. aAno1 B. dAebnot C. dAnBéc D. dAnbdv
Which of the following is a reflexive pronoun?

A. éavtod B. o0tog C. aAiow D. tobtov
Which of the following is not an optative form of A0®?

A. Moyu B. Aéhvxke C. AwOnocoiunv D. Mooy
Which of the following verbs supplies the more common future forms for &pyopon?

A. B. gl C. onui D. iommu
What use of the dative is found in this sentence: tov¢ Ogovg meibopev dwpoig.

A. manner B. special verbs C. place where D. means
What type of clause is found in this sentence: épofovueda pur od 6 factiedg KoTavOein.

A. purpose B. effort C. fear D. relative
What is the correct accentuation and syllable for the following verb form: mepumopevoc?

A. acute, antepenult B. acute, penult C. circumflex, antepenult D. circumflex, penult
What is the genitive singular of the adjective form yAvk0?

A. yhokov B. yAvkeiog C. yAvkéog D. yhvkéa
Which of the following pronouns is not properly paired with its plural?

A. éyo : Muelg B. 60 : Oueig C. av1g : avtol D. obtog : ékeivot
What type of verb is the form ¢iier?

A. indicative B. infinitive C. imperative D. subjunctive
What verb form is Ogivon?

A. present infinitive B. aorist infinitive C. present participle D. aorist participle
What is the correct accusative singular form for matnp?

A. matépov B. moatpacwv C. matépa D. ndrtep
What is the masculine accusative plural of the irregular adjective moAdGg?

A. molov B. moAb C. moAAnv D. moAhovg
What use of the dative is found in this sentence: £uoi Kol TOVTOIG TETPOKTOL.

A. agent B. place C. time D. possession
Which of the following prepositions does not take the dative case?

A. 04 B. mapd C. éni D. obv
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Which of the following is a correct translation the optative in this sentence: €inev 611 TadTO TOMCOL.
A. He said that he was doing these things.
B. He said that he would do these things..
C. He said that he had done these things.
D. He said that he would have done these things.
Which of the following is the correct feminine accusative plural of mdg?

A. mévta B. néoog C. mag D. mévtoag
What is the genitive singular of yévog?
A. vévn B. yéver C. yévoug D. yévog
Which of the following is not a comparative adjective?
A. Mdlov B. &ybiotog C. yapiéotepog D. flttov
What use of the genitive is found in this sentence: mévte fuepdV ypaym?
A. value B. cause C. extent of time D. compound verb

Which of the following phrases has an adjective in predicate position?
A. 1| dBavoaToc yoym B. 10 maudiov 10 koAov  C. 6 GvOpwmog KoAOg D. 1| dyabn 6866¢
Which of the following is the best translation of the sentence: uiv TadTto ypoantéov €oTiv.

A. These things must be written for us. C. We must write these things.
B. To write these things for us must be done. D. It is necessary for us to write these things.
What kind of clause/construction is found in the following sentence: A&ym &t1 povOavet.
A. purpose B. indirect statement C. articular infinitive D. temporal
Which word is best used to compare a participle, such as éxdv, positively?
A. parlov B. fjttov C. avtétarog D. ott®
What tense is the verb form “Aelvkmg Ecopon™?
A. aorist B. perfect C. pluperfect D. future perfect
What use of the participle is found in this sentence: dte AvBévteg 101G Beoig EBvcav.
A. concessive B. causal C. temporal D. attributive
Which of the following forms is a dual form for the demonstrative pronoun 6d¢?
A. 10060¢ B. 1®voe C. 10l0d¢ D. 1oivde
Which of the following is not a correct way to translate “We shall go to the city in order to see Socrates™?
A. pev glg v oM dnwg Xokpdtny WOmpuev. C. fpev &ic v oA ol Zokpdnv OpdGIv.
B. fuev &ic v moAv d¢ Zokpatnyv Oyopevol. D. pev gic v moéMv vep Zokpdrny oD Opdv.
Which of the following correctly translates: "If he should send a messenger, they would stop the battle"?
A. &av dyyehov TEUTY, TV LYY TOOOLGLY. C. av dyyelov TEUTOL, TNV LAYV TOOVGOLGLY.
B. &l dyyehov méumot, v pudynv tavotey av. D. &l dyyehov Eneumev, TV péymv Enavov dv.
Translate: oi moAitat vopilovsty ivou KaAof.
A. The citizen thinks that he is good. C. The citizen thinks that the men are good.
B. The citizens think that she is good. D. The citizens think that they themselves are good.

What use of the participle is found in this sentence: "00ovtog 10D igpémg aiya, 6 O£d0c Hd Tod dMpov
TipdTon"?

A. purpose B. concessive C. absolute D. conditional
What use of the participle is found in the sentence oV AavOdvet Kakog Gv?

A. indirect statement B. supplementary C. circumstantial D. absolute
Translate: “6 otpoatnyog Odttov Epuyev fj NUIv.”

A. The general fled more quickly than we. C. The general fled quickly with us.

B. The general fled more quickly with us. D. The general fled most quickly of us.
What use of the subjunctive is found in this sentence: un Abonte 100G GTPATIOTOS.

A. prohibitive B. conditional C. fear D. purpose

Translate: mdv molodow dote diknv pr 6136 vat.
A. Everyone behaves so that they are not punished. C. They do everything so as not to be punished.
B. Everyone does it to give out punishment. D. They do not behave at all to avoid punishment.
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V. Reading Comprehension: Refer to the passage below for questions 86-100.

A Parable of the Philosopher and the Mouse
D1LOc0PoGS TIC €ic TocODTOV TTEViNG NKeV, BoTE 0VOE GlToV IKOVOV Tapackevdlesdotl £60varto,

AL TTEpLiV TNV TOMY TACAV, €l Kal)kovg TvaGg Aoy vav 6 amePPLUEVOLG EDpOL,

TOVTOVG GD)\.)\.S(Z(XQ Hoiev. £80Eev ovV £t TAVTmV TdV {OVTIOV Elval a@hmrarog,

Kol &V v elyev Eavtov Sraypnoacdat, 0idpevog ToV TotodTov Btov OVKETL BVEKTOV ETVaLL.
TOPEVOUEVOC € TTOTE d1L THG TOAEMG KOl TOVG KAWAOVE £60imV, AnocTdouatd Tva avT®dv

€K TG Xalpbg (’xcpﬁst £00VG 0VV TPosELDMV UDG TIG AVAPTAGE T ATOTEGOVTOL KO KATEPAYEV.

idmVv 68 adTOV, O PIMOGOPOC £YEVETO sveuuompog, Kol EQN PEo0G,
“SoKel £keivo 10 {Hov aOMDTEPOV TE EUoD glva, Kaitol Gua GrhocopdOTEPOV.”

Vocabulary Aid (alphabetical order):

a0lrog -n -ov: wretched apfiko (imperf. amkov): to Nk (imperf. fkov): to have pewddm: to smile
avapralo: to snatch up have left (behind), to drop come, arrive, approach 0 pdg: mouse
aveKTOG, 1) ov: bearable, owoypaopar, SLayPNGONIL: ikavog -n -ov: sufficient 1 mevia: poverty
tolerable (+acc) to consume, destroy  katécOim, katédopar, mepisyu: to go around

amomint®: to fail in obtaining  £00im, £dopm, Epayov: to eat Katépayov: to gobbleup  moped®: (in mid.) to wander
amoppintm: to throw away gvBupog, ov: cheerful 0 Kavlrog: stem, stalk ovAréy (cf. Aeym): to collect
70 dmocmacpe.: piece, bit(s) 70 Aoyavov: cabbage @1ho66@oc-n —ov: (here) content
86. What use of the infinitive is mtapackevalesOar (line 1)?

A. subjective B. complementary C. result D. epexegetical
87. What type of clause is found in line 1 (dote...£00vato)?

A. temporal B. relative C. purpose D. result
88. macav (line 2) modifies:

A. the philosopher (understood) B. méhwv (line 2)  C. xowiovg (line 2) D. haybvov (line 2)
89. What type of condition is found in lines 2-3?

A. present general B. past general C. future more vivid D. future less vivid
90. What tense is cuAAéEag (line 3)?

A. present B. future C. aorist D. perfect
91. According to line 3, the philosopher thinks that

A. he is the most wretched of all creatures C. the cabbage is the most wretched food of all

B. the mouse is the most wretched of all creatures D. finding food is the most wretched task of all
92. According to line 4, the philosopher intended to destroy himself for what reason?

A. noticing that everyone had a better life C. realizing his life was worthless

B. wishing for a better life D. thinking life intolerable
93. What kind of participle is mopgvdpevog (line 5)?

A. temporal B. absolute C. supplementary D. causal
94. What is the best translation of 61d tfig TOAewg in line 57?

A. on account of the city B. within the city C. near the city D. through the city
95. What use of the genitive is found in line 6?

A. agent B. extent of time C. separation D. possession
96. What tense is katépayev (line 6)?

A. present B. imperfect C. aorist D. perfect
97. To what does ta dmonesdvta (line 6) refer?

A. ¢ moAewg (line 5)  B. dmoondopatd (line 5) C. tig xepog (line 6) D. pdg (line 6)
98. According to line 7, how did the philosopher feel when he saw the mouse?

A. cheerful B. more cheerful C. most cheerful D. too cheerful
99. What use of the genitive is £éuod (line 8)?

A. possession B. separation C. agent D. comparison
100. What does pirocopmtepov (line 8) modify?

A. avtov (line 7) B. piu6c000¢ (line 7) C. {dov (line 8) D. gunod (line 8)
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